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031. Choose correct wh-type question to get underlined part.
Water is needed to sustain life on the earth.
(1)  Who is needed to sustain life on the earth?
(2)  Which is needed to sustain life on the earth?

(3)  Whose is needed to sustain life on the earth?
(4)  What is needed to sustain life on the earth?

032. Choose the proper alternative to fill in the blank.
The shopkeeper does not have the toys.
I was looking
(1) for (2) about (3) at 4) to
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033.

034.

035.

036.

037.

038.

039.

040.

041.

042.

043.

044.

045.

046.

Rearrange the jumbled parts which are labelled P, Q, R, S to produce the correct sentence. Choose
the correct sequence.

The person

P : because he is poor Q : work hard and efficiently

R : cannot S : who is poor

(1) SRPQ (2) RPSQ 3) PQRS 4 SRQP
Choose the correctly spelt word

(1)  Micsllaneous (2) Miscellaneous (3) Micslleneous (4) Miscellenious

Choose the proper article to fill in blank.
Ironis _— useful metal.
(1)  the (2) an 3) a (4) no article

Choose the most suitable ‘one word’ for the given expression:
A person who leads a simple life devoting himself to contemplation and meditation:

(1)  Altruist (2) Ascetic (3) Aesthete (4) Conservative
Select the correct cardinal number for the given:

A million -

(1) 100,000 (2) 10,000,000 (3) 10,000 (4) 1,000,000
Identify which part of the sentence has an error.

A. 1 was greatly astonished B.  when I came to know

C. that my friend is coming to see me D. after a gap of about twenty years
I C 2 A 3 B 4 D

Choose the correct passive voice form of the given sentence.
Why do you waste time?

(1)  Why is time being wasted by you? (2) Why has time been wasted by you?
(3)  Why is time been wasted by you? (4) Why is time wasted by you?
Choose the correct antonym of the given word.

Acquisitive

(1)  Miserly (2) Austere (3) Frugal (4) Ardent

Fill in the blank with the correct alternative.
Duck : Duckling : : Hare : -
(1)  Cygnet (2) Todpole (3) Piglet (4) Leveret

Choose the correct alternative for the given Direct speech :
“Oh, what a lovely day!” she exclaimed.

(1)  She exclaimed with pleasure that it was a lovely day.
(2)  She exclaimed that what a lovely day it was

(3)  She exclaimed with pleasure that it is a lovely day.
(4)  All correct.

Choose the correct alternative.

Heis__ for his evil deeds.

(1)  Famous (2) Celebrated (3) Notorious (4) Noted
Fill in the blank with the correct alternative.

Reading iseasier ___ speaking.

(1) to (2) for (3) be (4) than

Identify the mismatched pair from the given alternative.
(1)  Parrots - squeal (2) Frogs - croak  (3) Owls - hoot (4) Horses - neigh

Choose the correct alternative.
He willnotcome,
(1) I do not think (2) May think (3) I thought (4) 1think
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047. Find out the phrase which can correctly substitute the underlined part of the sentence.
I saw him make a wry face

(1)  Show disappointment (2) Feel sick
(3) Abuse (4) Cry with pain
048. Fill in the blank with the correct alternative.
The doctor ___ the patient from taking certain medicines.
(1)  banned (2) prescribed (3) prohibited (4) proscribed

049. Choose the correct alternative.
I : This tree is older than that.
IT : He is my elder brother.
(1)  Only I is correct (2) Both I and II are correct
(3)  Only II is correct (4) Both I and II are incorrect

050. Choose the alternative which can correctly substitute the underlined part of the sentence.
We should get to the cinema early not to miss the beginning of the film.
(1)  for not missing (2) 1in case not to miss
(3)  in order not to miss (4) No improvement

051. Fill in the blank with the alternative.

Thisisthe _ news.

(1) latter (2) latest (3) last (4) let
052. Choose the correct alternative.

Heran

(1) quick (2) as quickly (3) so quick (4) quickly

053. Fill in the blank with the proper alternative.
As the festival approaches the number of customers
(1)  increases (2) will be increased
(3)  is increasing (4) will have increased

054. Choose the correct alternative.

Questions will be answeredbya__ of experts.
(1)  staff (2) band (3) panel (4) bunch

055. Find out the correct feminine noun of ‘Fox’
(1)  Foxen (2) She fox (3) Vixen (4) Foxess

Read the following passage and answer the questions selecting the most appropriate alternative.
(Que. Nos 056 to 060)

In large part determined by a person’s gense. In short, some people are more predisposed to be fat.
Moreover someone who was obese in childhood will have more fat cells than an average person. Once
made the cells may enlarge or shrink but they never disappear. Gense however don’t have to control your
girth. The size of your fat cells depends on you on your eating habits and life-style. There are ways to
keep them small : eat low-fat fibre-rich foods such as whole grain breads, vegetables and fruits. Chew
food slowly.

056. What one eats is an important factor in controlling weight because -
(1)  Fat is burnt faster than proteins and carbohydrates.
(2)  Proteins and carbohydrates use up more calories than fats.
(3)  Fatty food has very little calorie content.
(4)  Digestion is affected by proteins and carbohydrates.

057. Body weight can be controlled best by:
(1)  Doing exercises vigorously, every day. (2) Mild, daily exercise and a proper diet.
(3)  Fasting and vigorous exercise. (4) Dieting alone.
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058.

059.

060.

Some ways in which obesity can be controlled are.
(1) Using the car occasionally. (2) Use of bicycle as far as possible.
(3)  Making a series of small physical efforts.  (4) Totally abandoning the use of lifts.

What can we conclude about exercise from the passage?
(1)  Exercise helps only in controlling the body weight.
(2) It makes one more mercurial.

(3) It makes one more active and mentally positive.
(4) It is difficult to do exercise which is effective.

In determining whether one is going to be fat or thin.

(1)  Genes play a paramount role.

(2)  Adulthood alters childhood patterns drastically.

(3)  Eating habits and life-style make no impact on fat cells.

(4)  Fat cells formed during childhood are of crucial importance.
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CHILD DEVELOPMENT AND PEDAGOGY
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061.

062.

063.

064.

065.

066.

067.

CHILD DEVELOPMENT AND PEDAGOGY

Every child is unique and an only and matchless creation of nature. According to this various
social, mental, emotional and physical differences in siblings are seen because of which of the
following law of heredity?

(1)  Law of similarity (2) Law of variation

(3) Law of regression (4) Law of repetition

Formation of a human being occurs due to the joint working of heredity and environment. Which
of the following is affected by environment only?

(1)  Nature and attitude (2) Age of maturity

(3)  Intelligence (4) Colour of eyes and skin

Sensation is the primary mental process occurring due to stimulation of sense organs. Which of
the following statement about sensation is correct?

(1)  Sensation is only an internal process

(2)  Sensation occurs only if we have the wish

(3) A Person is active about sensation

(4)  Sensation process is an inactive business of the mind

While searching for a lost coin we feel that a white round piece of paper is the coin, a faraway
shrub looks like an animal or man on a moonlit night. This happens due to which of the following
defects of illusion?

(1)  Familiarity (2) Geometrical optical illusions

(3)  Preparatory set or attitude (4) Physical causes

Imagery is revival of a previous experience without the stimulation of sense organs. Which of the
following is a characteristic of imagery?

(1)  Imagery is stable

(2)  Intensity of imagery is similar in everyone

(3)  Imagery is not formed without previous experiences

(4)  All images are formed with the same intensity

Which of the following activities should a teacher carry out to give the students a chance for
creativity and imagination?

A)  Prepare forts during Diwali festival

B) Developing ideas through games

0] Ask the students to play musical instruments

D)  Arrange an exhibition by students.

(1) A, BandC only (2) A, CandD only

(3) A, BandD only 4) A/ B,C,Dall

According to Munn, arrangement of various aspects of previous experience in the mind is called

(1)  Memory (2) Intelligence (3) Thinking (4) Motivation
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069.
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072.

073.

074.

If two things happen one after the other then one tries to find the cause and effect between them,
for e.g. A cat crosses your path while going to the examination and you fail. Your failure is linked
to the crossing of the cat. This happens due which of the following obstacles in thinking?

(1)  Prejudiced thinking (2) Coincidental judgement

(3)  Wishful thinking (4) Defect in observation

Which of the following statement about retention is correct?

(1)  Retention is not affected when poems are learned one after the other.
(2)  We can recall quickly if retention occurs in cognition state.

(3)  We can recall quickly if retention occurs in semi cognition state.

(4)  We can recall what is retained in non cognition state after some trying.

Which of the following statement about forgetting is incorrect?

(1)  Forgetting is an important process.

(2)  In order to improve memory, many things should be forgotten
(3)  Less retention, less forgetting.

(4)  More retention, less forgetting.

Which of the following statement about internal motive is incorrect?
(1)  Liking of a subject is an internal motive.

(2)  Internal motive and interest are closely related.

(3)  Motivators are internal motives.

(4)  Interest is the base of internal motive.

Spearman has given two factors i.e. General and Specific factors in his two factor theory of
intelligence. Which of the following statement is correct about it?

(1)  General factor in every person is large.

(2)  Specific factor in every person is large.

(3)  General factor is supplementary for the development of competencies.

(4)  Specific factor is useful in all functions for a person.

Emotional intelligence in terms of being able to monitor and regulate one’s own and other’s
feeling and to use feelings to guide thought and action. This definition of emotional intelligence
was given by which of the following psychologist?

(1)  Alfred Binet (2) David Weshler

(3)  Peter Salovy (4) Howard Gardener

Following are given Lewin’s types of mental conflicts and its examples. Which alternative shows
the correct pairs?

Example Type of Conflict

1) | There is money in the Pocket enough to watch a film. Desire is| A) | Yes - No - Conflict
to give party to friends and also want to watch the film.

i) |One doesn’t want to study for the examination nor want to fail in| B) | Yes - Yes - Conflict
exam.

i11) | One feels like eating favourite food but don’t feel like eating it| C) | No - No - Conflict
because stomach is full.

(1) i-Aii-Biii-C (2) i-Bii-Ciii-A
(3) i-Cii-Biii-A (4) i-Bii-Aiii-C
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081.

082.

083.

When a student passes with less marks then he says that he had not studied for the exam but still
he passed and got these marks.

Thisis __ type defense mechanism.

(1)  Identification (2) Negativism (3) Compensation (4) Rationalisation

Similar factors are transferred between two learning methods. But a more clear transfer of learning
takes place when the two factors are generalised. This theory of generalisation was put forth by
which of the following psychologists?

(1)  Pavlov (2) Bagley (3) Judd (4) Thorndike

In infancy period when a child accepts new ideas or experience in his present structure of thinking
and understanding and when according to present way of thinking the sensation and comprehension

of an event or stimulant is done or a response is given then ____ process occurs.
(1)  Orientation (2) Assimilation
(3)  Conservation (4) Accommodation

Which of the following aspect is correct about emotional development of children of later childhood
stage?

(1)  They learn by understanding the meaning.

(2)  The attention span of these students is unlimited.

(3)  They are aware of morality & immorality.

(4)  They rarely forget what they have learned.

Which of the following aspect is incorrect about slow learners?

(1)  These children have normal (average) intelligence.

(2)  These are moron children.

(3)  These children lag behind in studies as compared to normal children.
(4)  Diagnostic tests are necessary for these children.

“Personality is the dynamic organisation within the individual of those psychophysical systems
that determine his unique adjustment to his environment”. Which of the following psychologists
put forth this definition of personality?

(1)  Norman L. Munn (2) G. W. Allport

(3) G.A. Kimble (4) J. B. Watson

If the secretion of adrenalin from adrenalin glands decreases then which of the following symptom
is observed?

(1)  Manliness is observed (2) State of good health is felt

(3) A person becomes weak (4) A person looks stable in nature.

Which of the following theory is not included in the modern group theories of learning?
(1)  Theory of mastery learning (2) Field theory of learning
(3)  Social learning theory (4) Information processing model.

A learner picks and chooses from many environmental options, basing their decisions on their own
insights and past experiences. They do this through observational learning by incorporating and
imitating the behavior of those around us. This theory was put forth by which of the following
psychologists?

(1) Bandura (2) Bloom (3) Bruner (4) Ausubel
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086.

087.

088.

089.

090.

Which of the following competencies are important for creating studious attitude through effective
teaching?

A) Critical thinking competency

B) Competency of independent thinking

O) Competency of wisdom and sense.

D) Competency of problem solving.

(1) A, BandC only (2) A, BandD only

(3) B, CandD only (4) A,B,CandD all

Which of the following model of teaching has the objective of development of cognitive angle
and development of inductive deductive competency of thinking process?

(1)  Information processing model (2) Personal development model

(3)  Social interaction model (4) Behaviour modification model

Which of the following characteristic of learning process is not correct?
(1)  Learning occurs through proper activity.

(2)  Every animal learns in order to live

(3)  All animals learn in similar manner.

(4)  Learning process is slow process.

‘Learning is slow behavioural changes that occur in an individual with the help of experiences.’
Which of the following psychologists put forth the definition of learning?
(1)  Frandson (2) Murphy (3) Woodworth (4) Guilford

Which of the following things should be done by a teacher in order to avoid plateau stage of
learning?

A) Create interest in the students

B) Decrease the intensity of motivators

0) See that the students do not acquire wrong habits during skill achievement

D) Concentrate either on speed or accuracy.

(1) Aand B only (2) Aand C only

(3) AandD only (4) B and C only

Following are given some definitions of learning and their psychologists. Which alternative has
the correct pairs?

A B
1) |Munn A) [Improvement in behaviour through experience is learning
i1) | Woodworth B) |Learning is experience based behaviour change
iii) | Gates C) |Learning means improvement in experience and behaviour
1v) | Sigoule D) |Learning is process that brings change.
(1) i1i-Cii-Diii-Aiv-B (2) i-Aii-Biii-Civ-D
(3) i-Dii-Biii-Aiv-C (4) i-Bii-Aii-Civ-D

“Conditioning means if one stimulus can elicit a given response, the mere pairing of it with
neutral stimulus results in the neutral stimulus also becoming capable of eliciting that response.”
Accordingly which of the following is not an example of conditioning?

(1) One can change the attitude of learner.

(2)  One can remove fear of a learner by conditioning.

(3)  One cannot change strange behaviour of the learners by conditioning.

(4)  One can imbibe suitable habits in learners.
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091.

092.

093.

094.

09s.

096.

097.

098.

099.

100.

MATHEMATICS

What is a base of sequential eight triangular number comes after triangular number 10?
(1) 14 2 13 3) 12 4 1

Some workers completes a work within some days. If number of workers is increased by % times,
then how many times the days are required to complete the same work?

(1)  one and quarter times (2) % times

(3)  one and half times (4) % times

With reference to Roman numbers system, which is the contradictory option from the following?
(1) M s divided by C (2)  xxV is multiplied by IV.

(3) xcplusx (4) D minus CD

When minute hand is at twelve right angle is observed in between minute hand and an hour hand
of a clock. What will be the angle (in degrees) will be observed after one and half hour between
two hands of a clock:

(1) 40° (2) 45° (3) 150° (4) 165°

What will be the number at “[ ]” place in the following number pattern?
15,26, 35,50,63, [ 1,99
1) 80 @) 81 3) 2 @) 8

What will be the length of a side of the square in cm. formed by joining four points on the circle
whose circumference is 88 cm?

(1) 14y2 2) 14 3) 7v2 “4) 7

Two ends of a rope having length quarter and nineteen meters are assembled at together at a point.
In how many points such a dual rope will be cuts in order to divide it in equal pieces having a
length of 1.75 meters each?

(1) o6 2) 5 3) 10 4 1

When a number is divided by 15, 11 and 12 every time the remainder will be 4. What will be the
number from the following?

(1) 660 2) 1984 (3) 1316 4) 2636

(6.5—3.3—2.5)(2.25+0.25+3.2) .,
1.8+ 1.4)65—33)—(2.25+0.25)425—-1.75)|

1 1 2) 0 (3) 25 @) 32

Length and breadth of a rectangular ground in a circular garden is 56 m and 42 m, respectively.
If four Vertices of a ground are on a circumference of a circular garden. Find the area of a region
excluding ground in sq. m.

(1) 2135 (2) 3850 (3) 2352 (4) 1498
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102.

103.

104.

105.

106.

107.

108.

109.

110.

Monthly salary of Savita is X 10000. It is quarter one times the salary of Vedica. Vedica's monthly
salary is twice the Asiya's monthly salary. What is a difference between the monthly salary of
Vedica and Asiya?

(1) 6000 (2) 4000 (3) 3750 (4) <2000

It is decided that among some boys 18 notebooks are given to each boy. But when actually 24
notebooks are given to each boy. 150 notebooks are fall short. Then what is the number of boys?
(1) 18 2) 28 3) 22 4) 25

Write the number of quadrilaterals

in the adjoining figure.

(1) o6 2) 8
3) 10 4 12

If 56 articles are to be distributed equally, then how many ways can they distributed?
(1) 10 2) 8 3) 6 4) 4

What is a sum of all two digits even numbers?
(1) 2500 (2) 2475 (3) 2530 (4) 2430

How many pairs of co-prime numbers from the following?
(9 and 49), (11 and 111), (19 and 247), (21 and 85) and (12 and 33)?
(1)  Five (2) Two (3) Three (4) Four

In a certain year ‘Maharashtra Din’ is on Friday in the same year what will be the day on ‘Shikshak
Din’?
(1)  Wednesday (2) Friday (3) Thursday (4) Saturday

Of the certain amount, if % times is given to Ved or % times the amount is given to Alok or
%times of the amount is given to Saniya or ﬁtimes of the amount is given to Veena. Then
who will get the least amount?

(1)  Ved (2) Alok (3) Saniya (4) Veena
‘Rectangle is a ................. ’ to complete this statement which of the following alternatives is more
correct?

A) Parallelogram
B) Right angled quadrilateral

) Rhombus.

(1) onlyAandB (2) only Band C

(3) onlyAandC (4) All three A, B and C

Find the Value of : [1%+ (%—%) X 0,24] =7?

1y 5% 2) 159 3) 155 @) 054
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117.

118.

In the figure aside is a open structure of

E
parallelopipe box. What will be the
letter on exactly opposite
surface of letter ‘A’?
A|B|C|D
1 E (2) F
3) C 4 D

Three boxes contains respectively 216, 126 and 162 notebooks. If three bundles of equal numbers
of notebooks are made. Then how many maximum numbers of note-books each bundle will
contains?

(1 6 2) 9 (3) 36 4) 18

In a number 49.247, how many times the place value of 4 at extreme right than the extreme left?
(1) 10° 2) 1072 3) 10° 4 107

In the thombus in adjoining
figure. What will be the
value of n° ?

(y 70° (2) 80°
(3)  60° 4) 90°

Rectangular color paper of size 9 cm % 40 cm. is cut diagonally into four triangle shaped pieces
1.e. pataka. What will be the total perimeter of two largest pieces (patakas) so formed?

(1) 262 cm ) 180 cm (3) 162 cm 4) 81 cm
If (x2(—x9ic;-)20)] =0thenx=7?
( 4 (2) -4 3) 5 4 -5

In a bag there are some notes of X 500 and some notes of X 2000 denominations. Total cost of
notes is ¥ 30500. Find the total number of notes of ¥ 500 in a bag.

(1) 23 (2) 39 (3) 43 4) 49

If sum of the measures of supplementary angle and complementary angle of an angle is 200°.
What will be the measure of an angle?

(1) 35° (2) 45° (3) 55° (4) 65°
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119.

120.

Note: Instructions for Q. 119 and Q. 120
Observe the graph given and answer the Q. 119, Q. 120

| Scale
___________________________________________________________________________________________________________ On Y-axis-Attendance Percent

lem = 5%
i On X-axis - Months

S S ol A G R R AR R G

+— Attendance Percent —

i

R

R

el

51| H 281 24 Juhe- --------- S5 58 B 1 1V 1R S AL VN 03 I L T Oct. |+

i= \/I(éntls {7

By how many percent more attendance of a students in the month of October than the attendance
in the month of August?

) 1y @ 10 3 121 @ st

In how many months the percent attendance of students is less than the average of attendance
(percent) in the five months?
(1) One (2) Two (3) Three (4) Four
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121.

122.

123.

124.

125.

126.

127.

128.

129.

130.

ENVIRONMENTAL STUDIES

Which of the following is the era of ancient history related to India?
(1) 8" century BC to 10" century AD.

(2)  from stone Age to 8" century AD.

(3)  from stone Age to 10" century AD.

(4)  from 8th century BC to 8" century AD.

Which of the following are correct statements?

A) Harappa civilization is also called as Indus civilization.

B)  Both Harappa and Mohenjodaro civilizations showed similarity in historical remains.
C) Harappa and Mohenjodaro both cities are in Pakistan now.

(1) OnlyAand B (2) OnlyBandC

(3) OnlyCand A (4) A,BandCall

What is the ‘Intelligent Man’ from the stage of development in human evolution called?
(1)  Homo habilis (2) Homo erectus
(3)  Neanderthal man (4) Cro-magnon man

Which of the following area is not an area of Hindavi Swarajya in times of Shivaji Mahara;j?
(1)  Belgaum in Karnataka (2) Karwar and Dharwad
(3)  Vellore in Tamil Nadu (4) Mysore and Madurai

Which of the following person has written a poem about an imaginary incident in which Shivaji
Maharaj talks to his associates?

(1)  Mahatma Jyotiba Phule (2) Subramanyam Bharti

(3)  Ravindranath Tagore (4) Sarojini Naidu

In which century was the first Navy of Medieval India established?
(1)  Fifteenth (2) Sixteenth (3) Seventeenth (4) Eighteenth

Chatrapati Shivaji Maharaj : Shivnery :: Samarth Ramdas : ?
(1)  Sajjangad (2) Jaamb (3) Chaphal (4) Shivtharghal

“Shivaji Maharaj cared for his associates like a father.” While explaining this to the students, a
teacher will not give example of which of the following person?

(1)  Madari Mehetar (2) Kanhoji Jedhe

(3)  Prataprao Gujar (4) Baji Ghorpade

The Post of 'Bargir' was associated with which of the following division in the army of Shivaji
Maharaj?

(1) Cavalry (2) Infantry

(3) Navy (4) Intelligence Service

Which of the following is not a fundamental right according to the constitution of India?
(1)  Right to Freedom of Religion (2) Educational and Cultural Rights
(3)  Right to Vote (4) Right to Constitutional Protection
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131.

132.

133.

134.

135.

136.

137.

138.

139.

140.

Which of the following local government has maximum 45 members and minimum 15 members?
(1)  Nagar Panchayat (2) Panchayat Samiti
(3)  Municipality (4) Gram Panchayat

Which of the following aspect, related to the Governor, is not correct?
(1)  He is the constitutional head of the state.

(2)  He is not the executive head of the state.

(3)  He is appointed from the other state.

(4)  He is not included in the executive committee of the state.

Which of the following is not a fibrous substance?

(1) Bajra (2) Leafy Vegetables

(3) Bran (4) Margarin

The group "Pench, Navegaon and Chandoli" is related to which of the following?
(1)  Protected forests (Sharanvane) (2) Sanctuaries

(3)  National Parks (4) Biodiversity Parks

Which of the following Adivasi tribes are found in Sahyadri Mountaineous areas of Maharashtra?
(1)  Korku-Warli (2) Warli-Kokana  (3) Kokana-Bhil (4) Bhil-Korku

Which of the following is not a characteristic of "Black Soil"?

(1)  This soil is formed by the weathering of basalt rocks.

(2)  The black colour of the soil is due to presence of titanic ferrous and magnetite elements.
(3)  The capacity of water retention is more.

(4)  This soil is also called as "Regur Soil" or "Alluvial Soil".

Considering the irrigation area in Maharashtra which of the following pair of irrigation means is
the pair of most used means and least used means of irrigation?

(1) Canal - Lift (2) Canal - Tank (3) Well - Lift (4) Well - Tank
Which of the following is a characteristic of latitudes?

(1)  Parallel to each other (2)  Similar Lengths

(3)  Prime meridian means largest parallel (4) 0° latitude means equator.

Which of the following is recognised by the name of "Maidan"?
(1)  Southern part of Chattisgarh and south-west part of Odisha
(2)  Central part of Chattisgarh and western part of Odisha

(3)  Eastern Plateaus

(4)  Karnataka Plateau

Which of the following are related to "Intensive Agriculture" a type of farming?
A)  Farming done in vast area where only one type of crop is taken.

B) Maximum use of human and animal labour.

C) Limited mechanisation.

(1) OnlyAandB (2) OnlyBandC

(3) OnlyAandC (4) A,BandCall
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144.

145.

146.

147.

148.

149.

150.

Which of the following group of districts of Maharashtra lies adjacent to Gujarat border?
(1)  Nandurbar - Dhule (2) Jalgaon - Nashik
(3)  Thane - Palghar (4) Thane - Mumbai

Which of the following is not a characteristic of Pisces class?

(1)  Some fish have longer life span.

(2)  Some fish have shorter life span.

(3)  Their heart is made of three chambers.

(4)  Body temperature changes according to the temperature of surrounding.

Which of the following is a group of contagious diseases?
(1)  Anaemia, Scurvy, Ringworm (2) Ringworm, Eczema, Uremia
(3)  Scabies, Ringworm, Goitre (4) Scabies, Eczema, Ringworm

What is 'Bone Meal' made from bones of dead animals?
(1)  Fertilizer (2) Gelatin (3) Insecticide (4) Medicine

Which of the following nutrients are necessary for body building of humans?
(1)  Carbohydrates (2) Fats (3) Vitamins (4) Proteins

Which of the following helps in the process of clotting of blood in case of wounds on the body?
(1)  Blood capillaries (2) Blood platelets
(3)  Lymph vessels (4) Blood corpuscle

The sky appears blue when we observe from the earth. Which of the following factor is responsible
for this phenomenon?

A) Atmosphere

B) Scattering of light

(1)  Only A correct (2) Only B correct

(3) Both A and B correct (4) Both A and B incorrect

Generally non metals are not .
(1)  Ductile (2) Maleable
(3)  Brittle (4) Good conductors

Following are given reason (cause) and effect statements. Which of the following alternative is
correct considering the statements?

Reason : A) Water is a compound

Effect : B) The properties of water are different from the properties of hydrogen and oxygen.
(1)  Only A correct (2) Only B correct

(3) Both A and B correct (4) Both A and B incorrect

The 'decomposers' a factor of the ecosystem perform which of the following function?
(1)  Assimilation (2) Transfer (3) Excretion (4) Osmosis
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